INVENTORY Stock

Trade#

AJ3V750

part#

DONNELLY BROS INC

04/29/2021

864.984.4400
87

|30605

SC 18349

| 3/4" AUTOJECTOR VALVE 3PC 9V

ARSC30MM9V |2946O

SC 67397

30MM ARBURG NEW 18-1 SCREW CPM 9V HT
22.68" OAL 3:1 CR

BAEC40MM |1 2105 40MM BATTENFELD END CAP 95MM OD X
SC 945 50MM OAL 10H .750" ID THRU HOLE 1 3/4 X 8
BO4V24MMH |25355 24MM BOY VALVE 4PC HA "4A" OS
SC Altec
BO4V32MMH |19805 32MM BOY VALVE 4PC HA "B"
SC 20764
BO4V38MMH |22335 [1] 38MM BOY VALVE 4PC HA "B" 2.986" OAL
SC 25595
BO4V48MMH |25085 48MIM BOY VALVE 4PC HA "B"
SC 25594
BOEC38MM |29365 38MM BOY END CAP H13 NITRIDE 3.740" OD X
SC 60081-02 2.675" OAL 10H M35x1.5 Nz Th
BONZ28MM |28485 [2] 28MM BOY NOZZLE M24MMX1.5 16MM
SC 0704-74 4150 NITRIDE TC HOLE CENTER OF WRENCH
BONZ38MM |31 100 38MM BOY NOZZLE 4140 NITRIDE 5" OAL
SC 12937-1 M35X1 TH .630" R.O. 7/8"-14 TIP THREADS
BONZ38MM |31 100 38MM BOY NOZZLE 4140 NITRIDE 5" OAL
SC 12937-2 M35X1 TH .630" R.O. 7/8"-14 TIP THREADS
BONZ38MM |31 100 38MM BOY NOZZLE 4140 NITRIDE 5" OAL
SC 12937-3 M35X1 TH .630" R.O. 7/8"-14 TIP THREADS
BOSC24MM9 |31 260 24NMM BOY NEW SCREW CPM 9V 25.563" OAL

SC 12872

3.0 Cr

BOSC28MMCR |31 110

SC 19446

28MM BOY NEW SCREW CRUWEAR 25.400"
OAL 3.0 Cr

BOSC28MMLO |31 845

SC 19292

28MM BOY NEW SCREW CRUWEAR 31.535"
OAL 3.0 Cr




INVENTORY Stock

DONNELLY BROS INC

04/29/2021

864.984.4400
87

| 26MM CINCI VALVE 3 PC HA "B" .879" Rear

Trade# part# jOb #
CI3V26MMH |1 4465
SC 191591

Seat

CI3V4500H-13 23165

| 4 1/2" CINCI 3PC VALVE 45° [90° INCL ] NOSE

SC 57153 fern

H-13 HT NITRIDE COARSE THREAD 2.000/06

Cl14V2000H-2 |7565 | 2" CINCI FRONT SEAT HA "B’
SC 21912FS
C14v2500-1 |2029O | 2 1/2" CINCI RETAINER 90° CT "B"
SC 21824
Cl4V3250H 14160 | 3 1/4" CINCI Retain only 90° CT
SC 22205
C14Vv3500 |536O | 3 1/2" CINCI VALVE 90° CT 4PC HA "B”
SC 20441 less fs
Cl14V3500-3 |29260 | 3 1/2" CINCI CHECK RING 30% RESTRICTED
SC 20441-3 HA "B"

Cl14v3500-3PP |29260

| 3 1/2" CINCI CHECK RING 30% RESTRICTED

SC 19925-3 HA "B"
Cl4v3500-4 |1 5335 | 3 1/2" CINCI REAR SEAT M4
SC 21459-4
Cl14V3500H-1 |29075 | 3 1/2" CINCI RETAINER 90° CT REPAIR
SC 20334-1
Cl4V3500H-2 |29080 | 3 1/2" CINCI FRONT SEAT REPAIR
SC 20334-2
Cl14V8OMMH |231oo | 80MM CINCI VISTA VALVE 4PC HA "B"
SC STK
CIEC55MM? |o | 55MM CINCI End Cap SAMPLE
SC 0 CORE
CISC18MM |3zsoo | USED AND USEABLE
SC 20530 18MM CINCI SCREW CPM 9V 19.764" OAL 3.0

CISC2500NSC (27645

| 2 1/2" CINCI NEW SCREW STELLITE CHROME

SC 16971 garl

63.06" OAL 3.0 Cr




INVENTORY Stock

Trade# part#

DONNELLY BROS INC 04/29/2021

864.984.4400
job # 87

DA1V2000 |3 1300

| [4] 2" DAVIS 1.680" OD 90° EXTRUDER SCREW

SC 22464

TIP

EN4OMM777-96 32140

| sent A 11219

SC 51262 OH

$3500 - 40MM ENGEL NEW BARREL WEXCO

EN4V40MMH |14755

| 40MM ENGEL VALVE 4PC HA "4A"

SC 26351

THREAD IS M16X2

EN4V45M | 1

| 45MM ENGEL 4PC VALVE HA "4A™ REF B-1680

SC 26404

EN4V55MM-2H (22915

| 55MM ENGEL FRONT SEAT HA "B”

SC 22588 SCBX

EN4V60MMH |32590

| 60MM ENGEL VALVE 4PC HA "B”

SC 23266 SCBX

EN8OMM |1 | Wexco had ao 3.2018 80MM ENGEL NEW

SC BARREL 777 87.213" OAL pn PRO 800 FA11
FAEC2800 |2304O | 2.8 FARRELL END CAP 4150 CHROME 7" OD 4

SC 22454 3/16™ OAL
HP3V3500 |2893O | 3 1/2" HPM 3PC LONG VALVE (& 30%

SC 21110-1 RESTRICT FLOW CR ID/TRAVEL H13/HT/NIT)
HP3V3500 28930 | 3 1/2" HPM 3PC LONG VALVE (& 30%

SC 22095 RESTRICT FLOW CR ID/TRAVEL H13/HT/NIT)
HP3V3500 |2893O | 3 1/2" HPM 3PC LONG VALVE (& 30%

SC 22095a

RESTRICT FLOW CR ID/TRAVEL H13/HT/NIT)

HP3V3500-3LO |3 1010

| 3 1/2" HPM Rear Seat .983" oal x 3.121" OD ?

SC 0 Long 1.874" id [3pc]

JS84MM 32365 | a0 2007 OHIO 84MM JSW BARREL CORE
SC 7702 @oh 9.764" OD 75.591" OAL

NA120MM K | 120MM NATCO BARREL 1200 TON RESLEEVED
SC BDMN-OH 80" TO FEED PORT STD BIMETALLIC - LIGHTLY

NASC120MM |5

| 120MM NATCO 20-1 SCREW REBUILD COL56

SC BDMN-OH

CHROME - LIGHTLY USED - PLUS 3 PC SCREW




INVENTORY Stock

Trade# part#

DONNELLY BROS INC 04/29/2021

864.984.4400
job # 87

NISC26MM |3321 5

| 26MM NISSEI SCREW 9V 28.130" OAL

SC 59245925

NTSC45MMNC |28825

| 45MM NIIGATA NEW SCREW CRUWEAR

SC 45NA802C

41.406" OAL 2.3CR 18-1

RP3V1625 |2446O

| 1 5/8" REED TG 5 1/2 oz stud only LAWSON

SC RD199463

VALVE [3PC] RB199460C

RP3V4500TD- |2694O

| 4 1/2" REED TD LAWSON PIN RB157171J

SC 16631

RP4V1625 |27095

| 1 5/8" REED 120° TE RETAINER

SC 91290

rpsc2000td-u |o

| 2" REED TD used SCREW 40 3/8" OAL 1.992"

SC - used

oD

RPSC2000TGN (15785

| 2" REED TG 10.50z NEW SCREW STEL CHR 48

SC 17395

1/2" RE199242F

RPSC3000TDN | 22245

| 3" REED TD NEW SCREW STELL CHROM 59

SC 15038 FS

3/4" OAL RH129580 M

RPSC3750TG1 (32845

| 3 3/4" REED TG 16-1 NEW SCREW N135M

SC 19580 FS sc

COLS56 NITRIDE 86" OAL 3.0" CR RH199642D

SA4V90MMCAR|1 7170

| 90MM SANDRETTO VALVE 4PC CARBIDE "B"

SC 20051

TO3V55MM |2976O

| 55MM TOSHIBA 3PC VALVE ISG 6.483" OAL

SC 75532

[6.84]

TO45MMSBISE |1

| 45MM TOSHIBA 5B ISE Barrel LOOKS NEW

SC 19131 OH

4.330" OD 46 1/2" OAL ROUND PORT °+*SN

TO4V105MM-4 |29555

| 105MM TOSHIBA REAR SEAT

SC rs105to SC

TO4V105MM-4 (29555

| 105MM TOSHIBA REAR SEAT

SC 28845

TO4V105MMR |2983O

| 105MM TOSHIBA CARBIDE FACED CHECK

SC 28845CR

RING + CARB OD NS




INVENTORY Stock

Trade# part#

job #

DONNELLY BROS INC

04/29/2021

864.984.4400
87

TO4V40MMISE- 30130

SC 25691

| 40MM TOSHIBA REAR SEAT HA °ISE- M4

TO4V50MM | 1

SC 26282

TO4V50MM ISF/G CR + RS 0O/S
THIS IS OLD STYLE

TO4V50MMISE |1 4900

SC 20432

50MM TOSHIBA ISE retainer only 4PC

TO4VSOMMISF- 28045 [2] SO0MM TOSHIBA ISF/G RETAINER 60°
SC 22747
TO4V50MMISF- 28045 50MM TOSHIBA ISF/G RETAINER 60°
SC 22597
TO4VS50MMISF- 28220 50MM TOSHIBA ISF/G FRONT SEAT HA "B”

SC 22747

e0OSe

TO4V50MMISF/ |331 30

SC 19721

S50MM TOSHIBA ISF/G CHECK RING HA FLAT
NS

TO4V50MMISF/ |331 20

SC 19721

50MM TOSHIBA ISF/G REAR SEAT 1.611" OAL
NS

TO4VS55MM |30000 55MM TOSHIBA VALVE ISG 4PC HA 6.800"
SC 21083 OAL
TO4V70MM-4 |30055 70MM TOSHIBA REAR SEAT 2.484 DIA actual

SC 21074

TO4V70MMISG |30060

SC 25306 SC BX

[1] 70MM TOSHIBA ISG VALVE 4PC HA 60°
M36X3.0-LH 2.346 1.455 9.036" OAL ¢¢¢°**THIS

TO4V90MM |27835

SC 24513

90MM TOSHIBA ISF/ISG repaired Retainer

TOEC40MMISF/ |3264O

SC 4639

[2] 4A0MM TOSHIBA ISF 5A END CAP 60° H-13/
HT/NITRIDE 1.750/08

TOEC45MM5B 27185

SC 23554

5B 45MM TOSHIBA END CAP 60° 4140 NITRIDE
11/2"-12 2.165" OD for CB X 4.42" OAL

TOEC45MM5B |271 85

SC 23555

5B 45MM TOSHIBA END CAP 60° 4140 NITRIDE
11/2"-12 2.165" CB X 4.42" OAL [[10mm thru




INVENTORY Stock

Trade# part#

DONNELLY BROS INC

04/29/2021

864.984.4400
87

TY4V20MMH |251 70

SC 14658

| 20MM TOYO VALVE 4PC HA "B”

TY4V46MMH (24560

SC 24627 SC BX

[2] 46.05MM TOYO VALVE 4PC HA "B" w/ss
RETAINER

TY4V60MMH |2455o

SC 17332

60.05MM TOYO VALVE 4PC HA "B"

TYSC46.05MM | 24555

SC 46T04028B

46.05MM TOYO NEW SCREW CPM-420 SS
51.875" OAL

VD3V50MM |297oo

SC 68125

50MM VAN DORN RETAINER FOR 3PC VALVE

VDAV3SMMH (67105

SC 22210

35MM VAN DORN 2r,2fs 4PC HA "B” os

VDAV35MMH (6105

SC 22599 SCBX

35MM VAN DORN 1r,1fs, 1cr VALVE 4PC HA os

VD4V50MMH-3 |20435

SC CAN

50MM VAN DORN CHECK RING HA HOUR
GLASS

VD4V50MMRR | 32240

SC CAN

50MM VAN DORN DeMag 4PC VALVE 60°
1.730" .866 TR22X3

VDAV7SMMH (15125

SC 20847

75MM VAN DORN VALVE 4PC HA "B"

VDEC35MM (10550

SC 19389

35MM VAN DORN END CAP NITRIDE

VDSC50MM |33020

SC CAN

50MM VAN DORN DeMag NEW SCREW
EXTRUALLOY CHROME 55.709" OAL 2.7 Cr




